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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B, and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Define developing economy and describe its basic 

characteristics.  Is India a developing economy ?  

fodkl’khy vFkZO;oLFkk dh ifjHkk”kk nhft;s vkSj bldh eq[; 

fo’ks”krkvksa dk o.kZu dhft;sA D;k Hkkjr ,d fodkl’khy 

vFkZO;oLFkk gS \ 

2. Describe the meaning and technique of economic 

planning. Are there any demerits in planned  

economic ?  

vkfFkZd fu;kstu dk vFkZ ,oa rduhd dk o.kZu dhft;sA D;k 

fu;ksftr vFkZO;oLFkk eas dbZ nks”k gSa \ 

3. “The fundamental problem of agriculture in India is to 

transform this occupation from a source of living into a 

business proposition.” Discuss.  

ßHkkjrh; d`f”k dh eq[; leL;k bl O;olk; dks ,d thou 

fuokZg ds lk/ku ls O;kolkf;d dk;Z eas ifjofrZr djuk gSAÞ 

foospuk dhft;sA  

4. Discuss the industrial changes brought about in Indian 

industries during the industrial planning.  

vkS|ksfxd fu;kstu dh vof/k esa Hkkjrh; m|ksxksa esa gq, 

lajpukRed ifjorZuksa dh leh{kk dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Explain economic development and economic growth.  

vkfFkZd fodkl ,oa vkfFkZd laòf) dh O;k[;k dhft;sA  

2. Discuss the concept of liberalisation and globalisation.   

mnkjhdj.k ,oa oS’ohdj.k dh vo/kkj.kkvksa dh foospuk 

dhft;sA  

3. Write a short note on green revolution.  

gfjr ØkfUr ij ,d laf{kIr fVIi.kh fyf[k;sA  

4. Role of human resource as a determinants of economic 

development in India.  

Hkkjr esa vkfFkZd fodkl ds fu/kkZjd ds :i eas ekuoh; 

lalk/kuksa dh HkwfedkA  

5. “Export promotion and import substitution are the need 

of  the hour of our country.” Discuss.  

ßfu;kZr izksRlkgu rFkk vk;kr izfrLFkkiu gekjs ns’k dh vkt 

lcls cM+h leL;k gSAÞ O;k[;k dhft;sA  

6. Write a short note on G. S. T.  

th- ,l- Vh- ij ,d laf{kIr fVIi.kh fyf[k;sA  

7. Explain the problem before public distribution system 

in India.  

Hkkjr eas lkoZtfud forj.k iz.kkyh ds lEeq[k leL;kvksa dks 

le>kb;sA  
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8. What are the causes of low rate of capital formation in 

India ?  

Hkkjr eas iw¡th fuekZ.k dh /kheh nj ds D;k dkj.k gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate the correct answer option in the following :  

fuEufyf[kr iz’uksa eas lgh mŸkj fodYi fpfUgr dhft;s % 

1. In which plan industrialisation has been top priority ?  

(a) Fourth  

(b) Third  

(c) Second  

(d) First  

fdl ;kstuk ds vUrxZr vkS|ksxhdj.k dks lcls vf/kd 

izkFkfedrk nh x;h \ 

¼v½ prqFkZ  

¼c½ r`rh;  

¼l½ f}rh;  

¼n½ izFke  
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2. Which Indian city has been the highest population ?  

(a) Mumbai  

(b) Kolkata  

(c) Chennai  

(d) Delhi  

fdl Hkkjrh; uxj dh tula[;k lcls vf/kd gS \ 

¼v½ eqEcbZ  

¼c½ dksydkrk 

¼l½ psUubZ  

¼n½ fnYyh  

3. National agriculture policy aims the growth rate :  

(a) Above 5% per annum 

(b) Above 4% per annum 

(c) Above 3% per annum 

(d) 2.5% per annum 

jk”Vªh; d`f”k uhfr eas lao`f) nj dk y{; gS % 

¼v½ izfro”kZ 5% ls vf/kd  

¼c½ izfro”kZ 4% ls vf/kd  

¼l½ izfro”kZ 3% ls vf/kd  

¼n½ izfro”kZ 2.5%  

4. Which state has maximum branches of public sector 

commercial banks ?  

(a) Uttar Pradesh  

(b) Gujarat  

(c) Maharashtra  

(d) Karnataka  
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lkoZtfud {ks= ds O;kikfjd cSadkas dh lcls vf/kd ‘kk[kk;sa 

fdl jkT; eas gSa \ 

¼v½ mŸkj izns’k  

¼c½ xqtjkr  

¼l½ egkjk”Vª 

¼n½ dukZVd 

5. Under which Article of constitution Presidents 

appoints Finance Commission ? 

(a) 256 

(b) 280 

(c) 293 

(d) 356 

lafo/kku dh fdl /kkjk ds vUrxZr jk”Vªifr foŸk vk;ksx dh 

fu;qfDr djrs gSa \ 

¼v½ 256 

¼c½ 280 

¼l½ 293 

¼n½ 356 

6. Visible and invisible items are the part of :  

(a) Import and export policy  

(b) Balance of payment  

(c) Balance of trade  

(d) Annual budget  
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n`’; ,oa vn`’; ensa Hkkx gS % 

¼v½ vk;kr&fu;kZr uhfr dk 

¼c½ Hkqxrku larqyu dk 

¼l½ O;kikj larqyu dk 

¼n½ okf”kZd ctV dk 

7. Which of the following is an obstacle to economic 

development ?  

(a) Low rate of capital formation  

(b) Vicious circle of poverty  

(c) Socio-cultural barriers  

(d) All of the above  

fuEukafdr esa dkSu vf/kd vkfFkZd fodkl dk vojks/kd gS \ 

¼v½ iw¡th fuekZ.k dh nj dk de gksuk  

¼c½ xjhch dk nq”pØ 

¼l½ lkekftd&lkaLd`frd vojks/k  

¼n½ mi;qZDr lHkh  

8. „Smart Money‟ is a term used for :  

(a) Internet banking  

(b) FDRs in banks  

(c) Credit cards  

(d) Demand drafts of bank  

^LekVZ euh* ‘kCn dk iz;ksx gksrk gS % 

¼v½ baVjusV cSafdx ds fy, 

¼c½ cSadksa eas lkof/k tekvksa ds fy, 

¼l½ ØsfMV dkMZ ds fy, 

¼n½ cSadksa ds fMekUM Mªk¶V ds fy, 
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9. What is Green Gold ?  

(a) Tea 

(b) Coffee 

(c) Gold  

(d) Rice  

gjk Lo.kZ D;k gS \ 

¼v½ pk; 

¼c½ dkWQh 

¼l½ Lo.kZ  

¼n½ pkoy 

10. National Sample Survey (NSS) was established in :  

(a) 1948 

(b) 1949 

(c) 1950 

(d) 1951 

jk”Vªh; izfrn’kZ losZ{k.k dh LFkkiuk gqbZ % 

¼v½ 1948 

¼c½ 1949 

¼l½ 1950 

¼n½ 1951 
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